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Midterm Exam Answer
1. What is “Pull theory of innovation”? Could you give an example to clarify this very theory? (2 Points)
Pull theory innovation is a service innovation that is driven by customer needs. To clarify, a hotel might institute an airport shuttle service because the concierge noticed a high demand for taxi service.

2. In the below figure, 4 quadrants of the “Service Process Matrix” are found. Could you place the following 4 different items in their respective quadrant? (2 Points)
· Lawyers
· Hotels
· Auto repair
· Schools
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3. Define “Differentiation” in the framework of “Competitive Service Strategies”. Can you come up with any 2 methods service firms can chose to achieve differentiation? (2 Points)
“Differentiation” is a competitive service strategy aiming to create a service that is perceived as being unique. Service firms can differentiate through different methods like:

· Making the intangible tangible

· Customizing the standard product

· Reducing perceived risk

· Giving attention to personnel training

· Controlling quality

4. Explain how Information Technology (IT) helps create customer empowerment and hence take an active part in the service process. (2 Points)
Due to Internet, customers are no longer dependent on entirely on local service providers. For example, a person with a medical question can search the world for answers and we can shop around the world. Moreover, a person can track his / her package with any freight company and can even place a food order from home.
5. Contrast “Technology-Assisted” with “Technology-Facilitated” modes of technology’s contribution to the service encounter. (2 Points)
While “Technology-Assisted” mode is a service encounter where service provider has access to the technology to facilitate the delivery of face-to-face service, “Technology-Facilitated” mode is a service encounter where both customer and service provider have access to the same technology.

6. Provide an example clarifying the “Communication gap” in service quality? (2 Points)

The answer to this question shall be any example highlighting exaggerated promises and lack of information provided to contact personnel. Such problems might happen due to service firms promising something they cannot / won’t do or misunderstanding due to ambiguous advertisements / promises.
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